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Change to 4mm (US 6) needles.
Beg with a K row, now work in st st, shaping sides 
by inc 1 st at each end of 7th [5th: 5th: 5th: 5th] 
and every foll 8th [6th: 6th: 6th: 6th] row to 71 
[51: 59: 75: 85] sts, then on every foll - [8th: 8th:
8th: 8th] row until there are - [75: 79: 83: 87] sts.
Cont straight until sleeve meas 44 [45: 46:
46: 46] cm, ending with RS facing for next row. 
Shape top
Cast off 4 [5: 6: 7: 8] sts at beg of next 2 rows.
63 [65: 67: 69: 71] sts.
Dec 1 st at each end of next 3 rows, then on foll 
3 alt rows, then on 5 foll 4th rows.
41 [43: 45: 47: 49] sts.
Work 1 row.
Dec 1 st at each end of next and every foll alt row 
until 31 sts rem, then on foll 7 rows, ending with 
RS facing for next row. 
Cast off rem 17 sts.

MAKING UP
Press as described on the information page.
Join right shoulder seam using back stitch, or 
mattress stitch if preferred.
Neckband
With RS facing, using 33/4mm (US 5) needles 
and yarn A, pick up and knit 24 [24: 26: 26: 28] sts
down left side of front neck, K across 15 sts on 
front holder, pick up and knit 24 [24: 26: 26: 28] sts up 
right side of front neck, and 5 sts down right side
of back neck, K across 33 [33: 35: 35: 37] sts on back 
holder dec 1 st at centre, then pick up and knit 
5 sts up left side of back neck. 
105 [105: 111: 111: 117] sts.
Beg with row 2, work in rib as given for sleeves 
for 9 rows, ending with RS facing for next row.
Cast off in rib.
See information page for finishing instructions, 
setting in sleeves using the set-in method.

Embroidery
Using photograph as a guide, embroider back and 
front as folls:
On each rep of patt rows 26 to 30, embroider a 
row of cross stitches using yarn G.
On each rep of patt rows 35 to 38, embroider 
flowers using yarn H – each flower is made up of 
4 lazy daisy stitches radiating out from one point 
to form an “X” shape over the sts in yarn A.
On each rep of patt, embroider a line of french 
knots using yarn I between rows 50 and 51.
On each rep of patt rows 59 to 62, embroider a 
“V” shape using yarn H – each “V” shape is made 
up of 2 straight stitches over the sts in yarn A.
On second and every foll rep of patt rows 1 to 8 
(but NOT on first rep), embroider french knots 
over blocks in yarn A – use yarn C for french 
knots on patt rows 1 and 7, and yarn I for french 
knots on patt row 4.
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K3) 1 [1: 2: 2: 3: 3: 4] times, *P4, K3, (P2, K3) 4 
times, rep from * to last 10 [13: 16: 18: 20: 23: 25] sts, 
P4, (K3, P2) 1 [1: 2: 2: 3: 3: 4] times, K1 [3: 2: 3: 1:
3: 1], P0 [1: 0: 1: 0: 1: 0].
Row 3: K0 [1: 0: 1: 0: 1: 0], P1 [3: 2: 3: 1: 3: 1],
(K2, P3) 1 [1: 2: 2: 3: 3: 4] times, *C4B, P3,
(K2, P3) 4 times, rep from * to last 10 [13: 16:
18: 20: 23: 25] sts, C4B, (P3, K2) 1 [1: 2: 2: 3: 3: 4] 
times, P1 [3: 2: 3: 1: 3: 1], K0 [1: 0: 1: 0: 1: 0].
Row 4: As row 2.
Rows 5 and 6: As rows 1 and 2.
These 6 rows form cabled rib.
Cont in rib for a further 18 rows, ending with RS 
facing for next row. 
Change to 5mm (US 8) needles.
Now work in patt as folls:
Row 1 (RS): Knit.
Row 2 and every foll alt row: P0 [1: 0: 1: 0: 1: 
0], K1 [3: 2: 3: 1: 3: 1], (P2, K3) 1 [1: 2: 2: 3:
3: 4] times, *P4, K3, (P2, K3) 4 times, rep from * 
to last 10 [13: 16: 18: 20: 23: 25] sts, P4, (K3, P2) 
1 [1: 2: 2: 3: 3: 4] times, K1 [3: 2: 3: 1: 3: 1], P0 [1: 
0: 1: 0: 1: 0].
Row 3: K6 [9: 12: 14: 16: 19: 21], *C4B, K8, (turn 
and K3) 29 times, break yarn and leave last 3 sts on 
a safety pin at front of work – this is strip A, rejoin 
yarn and pick up and knit 3 sts from behind base 
of the 3 st strip just knitted, K10, (turn and K3) 
29 times, break yarn and leave last 3 sts on a safety 
pin at front of work – this is strip B, rejoin yarn 
and pick up and knit 3 sts from behind base of 
the 3 st strip 
just knitted, K5, rep from * twice more, C4B, 
K6 [9: 12: 14: 16: 19: 21].
Row 5: Knit.
Row 7: Knit.
Row 9: K6 [9: 12: 14: 16: 19: 21], (C4B, K23) 
3 times, C4B, K6 [9: 12: 14: 16: 19: 21].
Row 11: Knit.
Row 13: Knit.
Row 15: As row 9.
Row 17: Knit.
Row 19: Knit.
Row 21: As row 9.
Row 23: K6 [9: 12: 14: 16: 19: 21], *K9, holding 
WS of strip B against RS of work (and taking 
care not to twist strip) K tog first st of strip B 
with next st, (K tog next st of strip B with next 
st) twice, K7, holding WS of strip A against RS 
of work (and taking care not to twist strip) K tog 

first st of strip A with next st, (K tog next st of 
strip A with next st) twice, K5, rep from * twice 
more, K10 [13: 16: 18: 20: 23: 25].
Row 25: Knit.
Row 27: As row 9.
Row 29: Knit.
Row 30: As row 2.
These 30 rows form patt.
Rep last 30 rows 2 [2: 3: 3: 3: 3: 3] times more, and 
then rows 1 to 24 again. (Back should meas approx 
54 [54: 66: 66: 66: 66: 66] cm.)
Now omitting strips A and B (and simply 

YARN
	 XS	 S	 M	 L	 XL	 XXL	2XL
To fit chest
	 97	 102	 107	 112	 117	 122	 127	 cm 
	 38	 40	 42	 44	 46	 48	 50	 in
Felted Tweed Aran
	 15	 17	 18	 19	 20	 22	 23	 x 50gm
(photographed in Teal 725)

NEEDLES
1 pair 4mm (no 8) (US 6) needles
1 pair 5mm (no 6) (US 8) needles
4mm (no 8) (US 6) circular needle 40 cm long
Cable needle

TENSION 
18 sts and 251/2 rows to 10 cm measured over patt 
using 5mm (US 8) needles.

SPECIAL ABBREVIATION
C4B = slip next 2 sts onto cable needle and leave 
at back of work, K2, then K2 from cable needle.

BACK 
Using 4mm (US 6) needles cast on 97 [103: 109:
113: 117: 123: 127] sts.
Row 1 (RS): K0 [1: 0: 1: 0: 1: 0], P1 [3: 2: 3: 
1: 3: 1], (K2, P3) 1 [1: 2: 2: 3: 3: 4] times, *K4, P3,
(K2, P3) 4 times, rep from * to last 10 [13: 16: 18: 
20: 23: 25] sts, K4, (P3, K2) 1 [1: 2: 2: 3: 3: 4] times, 
P1 [3: 2: 3: 1: 3: 1], K0 [1: 0: 1: 0: 1: 0].
Row 2: P0 [1: 0: 1: 0: 1: 0], K1 [3: 2: 3: 1: 3: 1], (P2,
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